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Staffing in laboratory of coal preparation plant
YU Tao CHENG Ying-kun
( Xiaoyi Jinhui Coking Co. Ltd. Xiaoyi 032300/ China)

Abstract: DBI4T 158-2007 Coking Enterprise Laboratory Classification-and Evaluation Standards requires that the
laboratory should equip a number of checkout equipments and qualified persons which serve to test the coal samples
and convey the results accuratly results and its accurate delivery. Once the staff work in laboratory of coal prepara—
tion plant were bothered by the complex and strong intensity labor. In order to resolve this problem investigate how
to arrange personnel reasonably also introduce working capacity statistics of collecting and processing all these help
to improve production and working efficiency.
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